[Ny =45, Ng =5.]

[Ny =40, Ng = 10.]

[Ny =25, Ng = 25.]

Average throughput per AP
o o o o
o = o N o w o >
= (5] N a [ al S o
T T T T T T T

o

o

a
T

BF with AP diversity
—— BF without AP diversity

o
3

. .
1 15 2 25
Average traffic load per set

o o

w 2 >

o S <
T T T

o
w
T

o
[N}
T

Average throughput per AP
o o
= N
o1 ol
T T

0.1F

BF with AP diversity
—— BF without AP diversity

0.7

0.5

. .
1 15 2 25
Average traffic load per set

0.6

Average throughput per AP
o o o
w IS &

T T T

o
[N}
T

o
[
T

—— BF without AP diversity
BF with AP diversity

0.5

. .
1 15 2 25
Average traffic load per set

35




